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1
1. Rationalise the denominator of;/g

M 1 () Vs (i) SY5 (v) SvB (v Sv3
i i) — i) — iv) - V) —
5 5 5 5
1
2. Rationalise the denominator of _  _
(V2+v3)

- - = ~ 4 - = -
(i) (=v243) (ii) (=v5+v3) (i) (=v2+V3) (iv) (=vV-1+V3) (v) (—=V2+V3)

3. The rationalising factor of (—6v83) =

4 . :
(i) v83 (i) v81 (iii) v86 (iv) 83 (v) v83

4. The rationalising factor of (6v5—-2v6) =

- _ - — — — - - 4_
(i) (6v5+4+12) (ii) (6v5+2Vv6) (iii) (6v8B+2Vv6) (iv) (6v2+2Vv6) (v) (6v5+2V6)

1
5. Rationalise the denominatorof' o
(9v2+vV5)
(i) (-9 V2 2 ) (i) (-9 V2 L 33) (iii) (-9 vio v5) (iv) (-9 Va 1 V5)
157 157 157 157 157 2 157 157 157
W (-2 va- L s
V - —
157 157
(-v6—=v3)
6. Rationalise the denominator of - =
(V2+v9)
(i) ( 1\/§ 235) (i) ( 1\/1 2\/6) (i) ( 1\/§ 12) (iv) ( 1\/§ 2\/5) (v) ( 1\/6 2\/6)
7 7 73 7 7 7 7 7 7 7
(V7 —-2V9)
7. Rationalise the denominator of - =
(5v4+4v7)

() (==L v7+22) ) (=22 V7422 i) (=L vI0+ 22 ) (W) (= B+ 2 ) () (= vT+22)
| 6 5 1 6 3 1l 6 3 1\ 6 3 \ 6



8. Rationalise the denominator of(

—-8Vv2)
(i) (=—=v4) (i) (- ! v-1) (i) (==) (iv) (—-1 v2) (v) (- L 32)
i 16 i - iii iv 6 \Y; 16
1
9. Rationalise the denominator of
(=v5-=v2)

(i) (—1\/5+2) (i) (—-1\/5+1\/2) (iii) (—1\/7+-1\/2) (iv) (—-1\/3+-1\/2) (v) (—1\/5+132)
3 3 3 3 3 3 3 3 3 3

10. The rationalising factor of 4v56 =

. . 4. .
(iy v11 (i) 14 (i) v14 (iv) v14 (v) v17

11. The rationalising factor of (14 —-8v6) =

4 .
(i) (17+8v6) (ii) (14+8v6) (iii) (14+8Vv6) (iv) (11+8v6) (v) (14+48)

1
12. Rationalise the denominator of.
(—-4v5+6v8)
(i) ( ! v5+ 3 32) (ii) ( ! V3+ 3 v2) (iii) ( 1 v5+ 3 Vv2) (iv) ( ! v5+ 3 )
i ii iii iv
52 52 52 52 52 52 52 26
(=v2+vV3)
13. Rationalise the denominator of =
(=v7+v6)

. 4. . . . 4. .
(i) (V14—-v21+v12-v20) (ii) (v14—-v21+v12-v18) (iii) (v14—-v21+v12-v18)

(iv) (v12—-v21+v12-v18) (v) (v14—-v21+v12-v18)

(4V8+5v4)
14. Rationalise the denominator of =
(V7 +2V5)

_ 8 10 _ 164 20 _ 8 10 16 __ 20 .
(i) (== VId—"=VT7+-—=VI0+-—V5) (i) (= VId—-=V7+ - vI0+— V8)
13 13 13 13 13 13 13 13

8 . 104_ 16 20 . , 8 10 16 20 .
(i) (=-2v14——-2V7+-—-V10+--V5) (iv) (—=--V12—-—V7+-—-V10+--V5)
13 13 13 13 13 13 13 13

8 10 16 20
(v) (- V14— —V7+-—+vV10+ Vv5)
13 13 13 13

(v)

(

52

3
V2)

52
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1) (ii) 2) (v) 3) (v) 4) (ii) 5) (v) 6) (iv)
7) (ii) 8) (iv) 9) (ii) 10) (iii) 11) (iii) 12) (iii)
13) (v) 14) (v)
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